



Non comparison between a.s and L^1 -convergence



(Xn/m3, of IL r.V. with (ounter-example 1

 $\mathbb{P}(X_n = n^3) = \frac{1}{n^2}$ $P(X_n=0)=1-\frac{1}{n^2}$



An (E) = ZIX-XnIZES

IT is sufficient to prove that 4270,

Z P(An(E)) <00

 $P(X_n = n^3) = \frac{1}{n^2}$, $P(X_n = 0) = 1 - \frac{1}{n^2}$

Here, with X=0, and E>0,

$P(A_n(\varepsilon)) = P(|x - x_n| > \varepsilon)$

$= P(X_n > \varepsilon) = P(X_n = n^3) = \frac{1}{n^2}$

Thus

Z P(An(E)) = Z the < 0

We get $X_n \xrightarrow{a.s.} O$

 $\mathcal{P}(X_n = n^3) = \frac{1}{n^2}$, $\mathcal{P}(X_n = 0) = 1 - \frac{1}{n^2}$ (vi) Xn # O. Indeed E[IXn-OI] = E[Xn] $= O \times \left(\frac{1}{n^2} \right) + n^3 \times \frac{1}{n^2}$ = n 🛪 O

Counter example 2 Consider (Xn)n31 sequence of 11 r.v u/ith Xn ~ B(+) Then (i) We have seen that Xn + 0 (ii) $X_n \stackrel{L'}{\longrightarrow} O$ since $E[X_n - 0]] = E[X_n] = \frac{1}{n}$

Proof of counter-example for X_n (1)

Definition of a sequence (repeated): We consider independent r.v with

$$\mathbf{P}(X_n = n^3) = \frac{1}{n^2}, \qquad \mathbf{P}(X_n = 0) = 1 - \frac{1}{n^2}$$

Convergence: We have

$$X_n \xrightarrow{a.s} 0$$

2 X_n does not converge in L^1

Proof of counter-example for X_n (2)

Some notation: For $\varepsilon > 0$ set:

$$A_k(\varepsilon) = \{|X_k - X| > \varepsilon\}$$

Almost sure convergence: We have

$$\sum_{n=1}^{\infty} \mathbf{P} (A_n(\varepsilon)) = \sum_{n=1}^{\infty} \mathbf{P} (X_n = n^3)$$
$$= \sum_{n=1}^{\infty} \frac{1}{n^2}$$
$$< \infty$$

Thus

3

Image: A matrix

Proof of counter-example for X_n (3)

Non convergence in $L^1(\Omega)$: We have already seen that

$$\mathsf{E}[|X_n|] = \mathsf{E}[X_n] = n$$

Thus

 $X_n \not\rightarrow^{L^1} 0$

~	_
5 0 0001/	
Janiv	

Outline

Introduction

- 1.1 Basic probability structures
- 1.2 Buffon's needle
- 1.3 Convergence of functions

2 Modes of convergence

- 2.1 Reviewing the modes of convergence
- 2.2 Results for P and L^p convergences
- 2.3 Results for almost sure convergence

2.4 Cases of inverse relations for modes of convergence

- 2.5 Inverse method for simulation
- 2.6 Results for convergence in distribution

Case for which
$$\stackrel{(d)}{\longrightarrow}$$
 yields $\stackrel{\mathsf{P}}{\longrightarrow}$

Proposition 24.

 Consider

 •
$$\{X_n; n \ge 1\}$$
 sequence of random variables

 Assume

 $X_n \xrightarrow{(d)} c$, where c is a constant

 Then we have:

 $X_n \xrightarrow{P} c$





$\mathbb{P}(|X-X_{1}|>\varepsilon) = \mathbb{P}(|X_{n}-c|>\varepsilon)$

= $P(X_n < C - \varepsilon) + P(X_n > C + \varepsilon)$

$P(X_n < c - \varepsilon) + 1 - P(X_n \leq c + \varepsilon)$

 $F(c+\varepsilon) = 1$

 $\leq \mathbb{P}(x_n \leq c - \varepsilon)$

 $F(c-\varepsilon)=0$ Conclusion: As n-20,

 $\mathbb{R}(X - \times n(> \varepsilon) \longrightarrow O$ X, P>c

Proof of Proposition 24

Expression in terms of cdf: We have

$$\mathbf{P}(|X_n - c| > \varepsilon) = \mathbf{P}(X_n < c - \varepsilon) + \mathbf{P}(X_n > c + \varepsilon)$$

=
$$\mathbf{P}(X_n < c - \varepsilon) + 1 - \mathbf{P}(X_n \le c + \varepsilon)$$

Convergence: Since $X_n \xrightarrow{(d)} X$, we get

 $\lim_{n\to\infty}\mathbf{P}\left(|X_n-c|>\varepsilon\right)=0$

Image: A matrix

э

Case for which \xrightarrow{P} yields $\xrightarrow{a.s}$



-			
~	2	22.1	
	-		

92 / 118

Proof Consider event (1X-Xn1 >E) We know P(1X-Xn1 >E) -> 0 4E

Define a subrequence recursively: n,=1 and

 $n_{k} = inf(n > n_{k-1}; P(1 \times n - \times 1 > \frac{1}{k}) \leq \frac{1}{k^{2}}$





(onsider Ak (E) = { 1/2-×1 > E}

Aim: prove that Z P(Ax(e)) <0

Recall: $\mathbb{P}(|X_k-X| > \frac{1}{k}) \leq \frac{1}{k}$



 $\sum_{L \geq \frac{1}{k}} \mathbb{P}(A_{k}(\varepsilon))$ < Z 1/ k² k² < 20

Conclusion



Proof of Proposition 25 (1)

Definition of n_k : Recursively we set

$$n_k = \inf\left\{n > n_{k-1}; \ \mathbf{P}\left(|X_n - X| > \frac{1}{k}\right) \le \frac{1}{k^2}
ight\}$$

Some notation: For $\varepsilon > 0$ define:

$$\begin{array}{rcl} Y_k &=& X_{n_k} \\ A_k(\varepsilon) &=& \{|Y_k - X| > \varepsilon\} \end{array}$$

3

93 / 118

< □ > < 同 >

Proof of Proposition 25 (2)

Almost sure convergence: We have

$$\sum_{k=\varepsilon^{-1}}^{\infty} \mathbf{P} \left(A_n(\varepsilon) \right) = \sum_{k=\varepsilon^{-1}}^{\infty} \mathbf{P} \left(|X_{n_k} - X| > \frac{1}{k} \right)$$
$$\leq \sum_{k=1}^{\infty} \frac{1}{k^2}$$
$$< \infty$$

Thus

 $Y_k \xrightarrow{a.s} X$

~	_
5 2 1221/	
. Januv	

3

< □ > < 同 >

Case for which
$$\xrightarrow{\mathsf{P}}$$
 yields $\xrightarrow{L^r}$



95 / 118

: We know that a.s., If n we can prove that bounded. To this aim: Proof - 1st step IXnl < K X ii also $B_{\delta} = (|X| \leq k + \delta) \implies \mathbb{P}(B_{\delta}) = 1$ Then P(B;) = P(IXI > k+d), P(1x1 < k) = 1 $= \mathbb{P}(|X| > k \neq 0, |X_n| \leq k)$ ≤ R(1X-×1>2) → 0 42>0 Taking S-> O, we get P(IXI E E) = 1

Step 2: Assume Xn Bx, [Xn] ≤ k. Then E[X-XnI'] = E[X-XnI' 1(X-XnI)E)] + E[(x-xn 1" 1(x-xn 1 SE)] $\leq (2k)^r P(|x-x_1| > \varepsilon) + \varepsilon^r$ $\longrightarrow \varepsilon^r \quad as \quad n \rightarrow \infty$, for all $\varepsilon > 0$ Conclusion Def: E[(X-Xn1'] -> 0 $X_n \xrightarrow{L^r} X$



Proof of Proposition 26 (1)

Boundedness of X: For $\delta > 0$, set

 $B_{\delta} = (|X| \leq k + \delta)$

Then for all n > 1 we have

$$\begin{array}{lll} \mathbf{P}\left(B_{\delta}\right) & \geq & \mathbf{P}\left(|X-X_{n}| \leq \delta, \ |X_{n}| \leq k\right) \\ & \geq & \mathbf{P}\left(|X_{n}| \leq k\right) - \mathbf{P}\left(|X-X_{n}| > \delta\right) \\ & = & 1 - \mathbf{P}\left(|X-X_{n}| > \delta\right) \end{array}$$

Taking limits in n, δ we get

 $P(|X| \le k) = 1$

3

< □ > < 同 >

Proof of Proposition 26 (2)

Decomposition of $X_n - X$: For $\varepsilon > 0$ and $n \ge 1$ set

$$A_{n,\varepsilon} = \{|X_n - X| > \varepsilon\}$$

Then

$$|X_n - X|^r \leq \varepsilon^r \, \mathbf{1}_{A_{n,\varepsilon}^c} + (2k)^r \, \mathbf{1}_{A_{n,\varepsilon}}$$

Taking expectations: We obtain

$$\mathsf{E}\left[|X_n - X|^r
ight] \leq arepsilon^r \, \mathbf{1}_{A_{n,arepsilon}^c} + (2k)^r \, \mathsf{P}\left(A_{n,arepsilon}
ight)$$

Taking limits: With $n \to \infty$ and $\varepsilon \to 0$ we end up with

$$\lim_{n\to\infty}\mathbf{E}\left[|X_n-X|^r\right]=0$$

97 / 118

Image: A matrix

Outline

Introduction

- 1.1 Basic probability structures
- 1.2 Buffon's needle
- 1.3 Convergence of functions

2 Modes of convergence

- 2.1 Reviewing the modes of convergence
- 2.2 Results for P and L^p convergences
- 2.3 Results for almost sure convergence
- 2.4 Cases of inverse relations for modes of convergence
- 2.5 Inverse method for simulation
- 2.6 Results for convergence in distribution

98 / 118

< □ > < □ > < □ > < □ > < □ > < □ >

Right inverse (1)

Definition 27.

Let $F: \mathbb{R} \to [0,1]$ continuous cdf We define the right inverse F^{-1} as

$$\mathcal{F}^{-1}:(0,1) o\mathbb{R},\quad y\mapsto \inf\left\{a\in\mathbb{R};\ \mathcal{F}(a)\geq y
ight\}$$

A B A A B A

< (T) >

Right inverse (2)

Remarks on right inverse:

(i) If F is strictly increasing, F^{-1} is the inverse of F \hookrightarrow i.e. $F \circ F^{-1} = F^{-1} \circ F = Id$

(ii) Graphical method to construct F^{-1} :

- Symmetry wrt diagonal
- 2 Then erase vertical parts

Example:
$$F(x) = (x - 1)\mathbf{1}_{[1,2)}(x) + \mathbf{1}_{[2,\infty)}(x)$$

 $\hookrightarrow F^{-1}(y) = (1 + y)\mathbf{1}_{(0,1)}(y)$

э.

100 / 118

F < U([1,2]) Example of right inverse $F(x) = (x-1) \ 1_{CI,2}, (x) + 1_{CI,2}, (x)$ = $(y+1) \land (0,1) (y)$

Rmk Fis the of U([1,2])

=> [1,2] is what is revelant for the

On (1,2), F is strictly monotone => one can compute the inverse

F(x) = y = x - 1 = y(=) x = y + 1 = F'(y)